MICROECONOMICS
SECTION 2  SKELETON CLASS NOTES
ECONOMIC COST,  REVENUE AND ECONOMIC PROFITS

ECONOMIC COSTS: PAYMENTS THAT MUST BE  MADE TO RESOURCE OWNERS IN ORDER TO ATTRACT THE RESOURCES FOR USE IN THE PRODUCTION PROCESS.  (NORMAL PROFIT & OPPORTUNITY COST).

EXPLICIT COSTS: PAYMENTS MADE TO RESOURCE OWNERS OTHER THAN THE BUSINESS OWNER.

IMPLICIT COSTS: THE NORMAL PROFIT RETAINED BY THE BUSINESS OWNER.

IN OUR ANALYSIS WE WILL LOOK AT ECONOMIC COSTS AS THEY ARE GENERATED OVER TIME.

[image: image1.jpg]Total
Revenue )
Explicit
Costs

Accounting

= Profit

Total
Revenue

Explicit

Costs Economic
= Profit





THERE ARE TWO TIME PERIODS THAT WE WILL INVESTIGATE:


THE SHORT RUN—TIME PERIOD TOO SHORT FOR CAPITAL (PLANT SIZE) TO BE CHANGED, NON CAPITAL RESOURCES (LABOR & MATERIAL) CAN BE CHANGED.


THE LONG RUN—TIME PERIOD LONG ENOUGH SO THAT ALL TYPES OF RESOURCES, INCLUDING CAPITAL CAN BE CHANGED.

ANALYSIS OF SHORT RUN COSTS

COSTS ARE INCURRED AS A RESULT OF PRODUCING GOODS OR SERVICES.  THEY ARE THE FINANCIAL REPRESENTATION OF THE PHYSICAL PRODUCTION PROCESS.  TO UNDERSTAND COSTS, WE MUST UNDERSTAND PRODUCTION.

IN THE SHORT RUN, PLANT SIZE AND EQUIPMENT ARE “FIXED”. TO INCREASE PRODUCTION, A FIRM MUST INCREASE LABOR & MATERIAL WHICH ARE “VARIABLE”.

THE BASIC CONCEPT OF THIS PRODUCTION PROCESS IS  THE LAW OF DIMINISHING MARGINAL PRODUCTION

THE LAW OF DIMINISHING MARGINAL PRODUCTION


AS MORE UNITS OF A VARIABLE RESOURCE ARE ADDED TO THE FIXED RESOURCE IN A PRODUCTION PROCESS, BEYOND SOME POINT, EACH UNIT OF THE VARIABLE RESOURCE ADDED WILL RESULT IN A DECREASED AMOUNT OF ADDITIONAL PRODUCTION GENERATED COMPARED TO THE PRECEDING UNIT OF THE VARIABLE RESOURCE.

(IN COMMON LANGUAGE: AT SOME POINT THE NEW UNIT OF THE VARIABLE RESOURCE, WHILE STILL INCREASING TOTAL PRODUCTION, IS ADDING LESS THAN THE UNIT BEFORE.)

THE LAW OF DIMINISHING MARGINAL PRODUCTION DETERMINES THE CLASSIFICATION OF SHORT RUN COSTS: 


FIXED COSTS—COSTS ASSOCIATED WITH “FIXED” RESOURCES (PLANT & EQUIPMENT).  TOTAL FIXED COSTS WILL NOT CHANGE WITH THE LEVEL OF PRODUCTION.


VARIABLE COSTS—COSTS ASSOCIATED WITH “VARIABLE” RESOURCES (LABOR & MATERIAL).  VARIABLE COSTS CHANGE WITH THE LEVEL OF PRODUCTION.


TOTAL COSTS—THE SUM OF FIXED AND VARIABLE COSTS AT EACH LEVEL OF OUTPUT.
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RELATIONSHIP BETWEEN PRODUCTIVITY AND SHORT RUN VARIABLE & MARGINAL COST

AS LONG AS MARGINAL PRODUCTION IS RISING (EACH NEW UNIT OF VARIABLE RESOURCE IS PRODUCING MORE THAN THE PRIOR UNIT) THE MARGINAL COST FOR THE NEXT UNIT OF THE GOOD PRODUCED IS FALLING.  WHEN DIMINISHING MARGINAL PRODUCTION TAKES HOLD (EACH NEW UNIT OF THE VARIABLE RESOURCE PRODUCES LESS NEW PRODUCT THAN THE PRIOR UNIT) THEN MARGINAL COST WILL RISE.

WHEN MARGINAL PRODUCTION IS AT ITS MAXIMUM, MARGINAL COST IS AT ITS MINIMUM
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RELATIONSHIP BETWEEN AVERAGE VARIABLE AND AVERAGE TOTAL COST CURVES AND THE MARGINAL COST CURVE:

1. WHEN THE MARGINAL COST CURVE IS BELOW AN AVERAGE CURVE, THE AVERAGE CURVE WILL FALL

2. WHEN THE MARGINAL COST CURVE IS ABOVE THE AVERAGE CURVE, THE AVERAGE CURVE WILL RISE.

3. THE MARGINAL COST CURVE WILL INTERSECT EACH AVERAGE COST CURVE AT THE AVERAGE CURVE’S LOWEST POINT.
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ECONOMIES OF SCALE

1. SPECIALIZATION OF LABOR

2. SPECIALIZATION OF CAPITAL

3. SPECIALIZATION OF MANAGEMENT

DISECONOMIES OF SCALE

THE VARIOUS MANAGEMENT COMPLEXITIES ASSOCIATED WITH LARGER SIZES OF PLANT (RESULT FROM SPECIALIZATION)

EXPLANATION FOR THE SHAPE OF THE LONG RUN AVERAGE COST CURVE

EACH SIZE PLANT POSSESSES BOTH ECONOMIES AND DISECONOMIES OF SCALE.

INITIALLY ECONOMIES OF SCALE ARE GREATER THAN DISECONOMIES OF SCALE.  WHEN THIS IS THE CASE, EACH LARGER SIZE PLANT HAS A LOWER AVERAGE TOTAL COST CURVE.

AFTER SOME POINT, THE LARGER THE PLANT SIZE, DISECONOMIES OF SCALE ARE GREATER THAN ECONOMIES OF SCALE.  LARGER SIZE PLANTS HAVE A HIGHER AVERAGE TOTAL COST CURVE.
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LONG RUN AVERAGE COST CURVE REPRESENTS THE LOWEST COST PER UNIT AT WHICH ANY OUTPUT COULD  BE PRODUCED.

CHARACTERISTICS OF PURE COMPETITION

1. LARGE NUMBER OF BUYERS AND SELLERS

2. STANDARDIZED PRODUCT- EACH SELLER OFFERS THE SAME IDENTICAL PRODUCT.  THERE IS NO “NON PRICE” COMPETITION.

3. PRODUCERS ARE PRICE TAKERS: INDIVIDUAL SELLER CAN NOT CONTROL OR INFLUENCE THE PRICE OF THE GOOD BEING SOLD.  THEY MUST TAKE THE MARKET PRICE FO THEIR GOODS NO MATTER THE QUANTITY THEY HAVE FOR SELL.

4. FREE ENTRY- THERE ARE NO BARRIERS TO FIRMS ENTERING OR LEAVING THE MARKET.

The Firm vs Industry Demand Curve

Because a firm in a Purely Competitive industry is a price taker, the demand curve for the individual firm is perfectly elastic.  For the industry, the usual downward sloping demand curve is applicable.  The equilibrium price, based on the market demand and supply curves is the market price which the individual firms experience.
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An individual firm in a Purely Competitive industry will receive the market price, no matter what quantity it offers for sale.  Because there are such a large number of firms in the industry, no single individual or group of firms is able to affect the market price, even it they try to withhold their goods from the market place.  The Purely Competitive firm’s only option is to offer their full quantity of production for sale at the market price (perfectly elastic demand curve).
Note: 

1) For any firm we discuss, the firm’s demand curve is also its average revenue curve. (D = AR)
2) Average Revenue and Price are the same thing (AR = P)

3) Unique for Purely Competitive firm – its average revenue curve is also its marginal revenue curve. (AR = MR = P)

Marginal Revenue  - The change in total revenue resulting from a change in output.  

Uniqueness of Purely Competitive Firms
Purely competitive firms are price takers.  They sell all of their output at the market price.  For each additional unit of output sold, the price remains the same.  Therefore the change in total revenue added by each unit (Marginal Revenue) remains the same. 
ADD GRAPH FROM LECTURE TO NOTES

Maximizing Profits in the Short Run

Business entities are formed to make the owners a profit.  We need to be able to analyze a firm and determine if it is experiencing an economic profit, normal profit, or economic loss in the short run.
We will use Marginal Cost/Marginal Revenue Analysis to examine short run profit and losses.

Marginal Cost/Marginal Revenue Analysis 
A firm will maximize total economic profits or minimize total economic losses when it produces the output for which marginal cost equals marginal revenue. (MC = MR) 

MC/MR analysis identifies how each additional unit of output produced affects total revenue.  If the marginal revenue is greater than the marginal cost, (if the additional revenue generated is even just one penny more that the added cost) then that unit should be produced. It is in the firms best interest to produce up to the output for which MC = MR. 
There are four possible scenarios in the short run which a firm could experience:
1) Economic Profit

2) Economic Loss where it continues production

3) Economic Loss where it stops production

4) Normal Profit

Short Run Economic Profit -  Produce quantity for which MC = MR
Remember – For Purely Competitive firm MR = P = AR
[image: image8.jpg]Price and Cost (dollars)

P > ATC (> AVC)

TR = $1,500

TC = $1,100
TVC = $700
TFC = $400

Profits = $400

Continue to
produce in
the short run.

100
Quantity

(@

Case 1

Price and Cost (dollars)

P <AVC (< ATC)

TR = $200
TC = $650
TVC = $250
TFC = $400

Losses = $450

Shut down
in the
short run.

LOSSES

MC

ATC

AVC

do, MR,

50
Quantity
(b)

Case 2

Price and Cost (dollars)

ATC >P>AVC

TR = $720
TC = $800
TVC = $400
TFC = $400

Losses = $80

Continue to
produce in
the short run.

MC

ATC

LOSSES

Quantity

(c)
Case 3




We are talking about maximizing total economic profit not profit per unit.

ADD GRAPH FROM LECTURE TO NOTES

Short Run Economic Loss (continuing  production)
MC/MR analysis can be used to analyze a firm experiencing a loss.  It is sometimes appropriate for a firm to continue to produce even it is experiencing an economic loss in the short run.  Its short run losses are lower when it operates, and it if were to shut down.
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The key factor in this situation is if the firm’s AR (price) is greater than its AVC at the MC = MR quantity 
If the firm were to shut down, its short run losses would be its Fixed Costs (difference between ATC and AVC).  By continuing to operate, its short run losses are smaller than this.  The firm applies the revenue above its VC toward part of its FC.
Key to remember - If the firm’s AR > AVC, the firm should stay in operation in the short run.  Even if experiencing a loss.
Short Run Economic Loss (shut down production)
If a firm’s MC = MR at a point for which average revenue (AR) does not meet or exceed average variable cost (AVC), then the firm will minimize its losses by shutting down operation in the short run.  This leaves its losses at its Fixed Cost.
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Long Run Analysis of the Purely Competitive Firm & Industry
Remember in the short run, the firm can not change the quantity of its fixed resources (plant & equipment).  In the long run quantity of all resources can be changed.

Purely competitive industries allow firms the freedom to enter or leave the industry. (There are no barriers to entry or exit for a firm in a purely competitive industry.)
1) Starting from a situation of Economic Profit

Assume a purely competitive industry experiences an increase in demand.  Given a fixed short run supply curve for the industry, price will rise.  This will create an economic profit for the firms in the industry.

ADD GRAPH FROM LECTURE TO NOTES
Firms in other industries will observe the economic profits present here and since there are no barriers to entry, these firms will move into the industry experiencing economic profits.  As these new firms enter the market, they will increase supply.  As a result price will fall.  Economic profits will become smaller in the industry.

ADD GRAPH FROM LECTURE TO NOTES
Each new firm that enters the industry above will result in reduced economic profits.  This process of new firms entering the industry will continue until the price declines until the point where economic profits disappear, leaving only a normal profit for the firms in the industry.  (remember - a normal profit is a positive return to the business owner, but only a return equal to what they could obtain in any other industry.  A normal profit covers economic costs, but provides nothing above that).

Since the firms and the industry is experiencing a normal profit environment.  No additional firms will enter the industry.  The firms and the industry are at a point of equilibrium.

2) Starting from a situation of Economic Loss

Assume a purely competitive industry experiences a decrease in demand.  Given a fixed short run supply curve for the industry, price will fall.  This will create an economic loss for the firms in the industry.

ADD GRAPH FROM LECTURE TO NOTES
Since there are no barriers to exit in purely competitive industries, some firms in the industry will decide to leave and move to situations which deliver higher returns.  As these firms exit the market, they result in a decrease in supply.  As a result price will rise.  Economic losses will become smaller in the industry.

ADD GRAPH FROM LECTURE TO NOTES
Each new firm that leaves the industry above will result in smaller economic losses for those that remain.  This process of new firms leaving the industry will continue until the price rises to the point where economic losses disappear, leaving only a normal profit for the firms remaining in the industry.  

Since the firms and the industry is experiencing a normal profit environment.  No additional firms will leave the industry.  The firms and the industry are at a point of equilibrium.

Long Run Equilibrium for Purely Competitive Firms (and Industry)
Due to the lack of barriers to entry and exit from the market, Purely competitive firms (and the industry) can experience only a Normal Profit as a long run equilibrium.  
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Normal Profit for a Purely Competitive Firms
P = MR = AV = ATC = MC = low point on the long run ATC curve
Production Costs and the Firm’s Supply Curve
Since normal profit for a purely competitive firm occurs at the low point on the firms short run ATC, The short-run supply curve is that portion of the firm’s marginal cost curve that lies above the average variable cost curve. (the normal profit equilibrium for the firm rest on the MC curve as the market price increases, identifying the quantity that will be supplied as prices rise.
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Efficiency and Pure Competition
Efficiency is the prime benefit which a purely competitive industry provides to society.  There are two types of efficiency which pure competition provides

1) Allocative Efficiency – achieving the quantity of production which society (consumers) desire.   Price = Marginal Cost (P = MC).  Remember price is another name for Average Revenue (AR)

The price consumers are willing to pay for a good is a measure of their desire for it.  By producing at the point where P = MC, a purely competitive firm & industry matches the cost of resources used to make a good with the price (desire) of consumers for the good. 

To produce less quantity would mean the price for the next unit is greater that the cost to produce the next unit. (P > MC)  There is a shortage of the good compared to consumers’ desires.  Consumers are willing to pay a premium to obtain the scarce good. There is an under allocation of resources being applied to produce this good.

To produce a greater quantity would mean that the price of the next unit is less that the cost to produce the next unit (P< MC).  There is surplus of the good compared to what consumers what to purchase. There is an over allocation of resources to the production of the good.  

2) Productive Efficiency – The quantity of the good produced is the one for which the cost is the least of any possible quantity.  (It is the least cost quantity). 
This is proved by the fact that P = ATC at the ATC curves lowest point. (This is true for both the short run and long run ATC curves.)
Pure competition ensures that the most efficient plant size (lowest cost facility) will be built.
Limitations of Pure Competition
· Limited consumer choice – all producers make standardized products
· No incentive for technological progress
· There is no profit advantage for firms to develop new technology, as the lack of barriers to entry means that there is no way for a firm to protect its discovery from their competitors.  No way for the firm to recover its development costs
· The large number of firms in the industry implies that each would be financially relatively small compared to the market.  It is doubtful that any firm would have the financial resources to perform research operations.
We will judge the other industries against the efficiency theoretically provided by a Purely Competitive Industry (and Firms).
PURE MONOPOLY-CHARACTERISTIC
1. SINGLE SELLER IN THE MARKET

2. NO CLOSE SUBSTITUTE FOR THE PRODUCT

3. THE FIRM IS A PRICE MAKER, NOT A PRICE TAKER.  (IT HAS “CONSIDERABLE INFLUENCE OVER PRICE THRU THE CONTROL OF SUPPLY).  THIS IS ALSO REFERRED TO AS MARKET POWER – ABLILITY TO SET A PRICE HIGHER THAN PURE COMPETITION PRICE.
4. COMPLETE BARRIERS TO ENTRY

BARRIERS TO ENTRY

1. ECONOMIES OF SCALE- THE RELATIVE SIZE OF THE FIRM COMPARED TO THE SIZE OF THE MARKET RESULTS IN A LOWER COST OF PRODUCTION THAN ANY POTENTIAL COMPETITOR.

2. NATURAL MONOPOLY- THE PHYSICAL OR TECHNOLOGICAL ENVIRONMENT OF THE MARKET RESULTS IN ANY POTENTIAL COMPETITION BETWEEN FIRMS BEING AN INEFFICIENT USE OF RESOURCES.

TO PREVENT THIS WASTE OF RESOURCES GOVERNMENT GRANTS THE RIGHT TO SERVICE THE MARKET TO ONE FIRM.

WHEN GOVERNMENT GRANTS ESTABLISHES A FIRM THE RIGHT TO A NATURAL MONOPOLY STATUS, GOVERNMENT ASSUMES THE REGULATION OF FIRM TO ENSURE A FAIR PRICE AND ADEQUATE SERVICE. – ALL STATES & LOCALITIES HAVE SOME FORM A PUBLIC UTILITY COMMISSION TO REGULATE UTILITIES OPERATING WITHIN THEIR JUSRISDICTION

IMPORTANT PHILOSOPHICAL POINTS  
· CHANGES IN TECHNOLOGY CAN CREATE OR DESTROY THE ENVIRONMENT REQUIRING A NATURAL MONOPOLY.

· GOVERNMENT CAN CHANGE THE LAWS AND REGULATORY ENVIRONMENT, WHICH COULD DESTROY THE NATURAL MONOPOLY.
3. OWNER SHIP OF RAW MATERIALS

4. PATENTS- THE GRANTING, BY GOVERNMENT, OF THE RIGHT TO OWNERSHIP OF AN IDEA, PRODUCT, OR PROCESS FOR SPECIFIC PERIOD OF TIME. (SIMILAR TO THE IDEA OF A NATURAL MONOPOLY – ONLY A STATED PERIOD FOR HOW LONG PROTECTION LASTS)

5. NETWORKING EFFECT – CUSTOMERS’ WILLINGNESS TO PURCHASE (OR USE) A GOOD OR SERVICE IS INFLUENCED BY HOW MANY OTHER INDIVIDUALS ALSO BUY (OR USE) IT. DESIRE TO POSSESS THE PRODUCT INCREASES WITH THE NUMBER OF USERS.
6. UNFAIR COMPETITION

REMEMBER:

1. ONLY GOVERNMENT CAN SANCTION A PERMANENT BARRIER TO ENTRY.

2. OVER TIME THE PRESENTS OF PROFITS FOR THE MONOPOLY WILL LEAD TO A WEAKENING OF ANY OTHER BARRIER TO ENTRY AS OTHER FIRMS TRY GAIN ENTRY TO HAVE SHARE IN THOSE PROFITS

MC = MR ANALYSIS

SINCE A PURE MONOPOLIST IS THE ONLY FIRM IN THE INDUSTRY, ITS DEMAND CURVE IS THE INDUSTRY’S DEMAND CURVE.  THE FIRM’S DEMAND CURVE IS DOWNWARD SLOPING, NOT PERFECTLY ELASTIC.

SINCE A MONOPOLIST HAS A DOWNWARD SLOPING DEMAND CURVE, THE ONLY WAY THE FIRM CAN INCREASE THE QUANTITY IT SELLS, IS TO LOWER THE INITIAL PRICE OF ALL THE GOODS IT SELLS. (WE ARE ASSUMING ALL UNITS WILL BE SOLD AT THE SAME PRICE).
PRICE          QUANTITY          TOTAL         MARGINAL 

                                                 REVENUE        REVENUE
10                         1                        10
  9                         2                        18                      8

  8                         3                        24                      6

  7                         4                        28                      4
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NEW MARGINAL REVENUE CURVE

This means that unlike Pure Competition, a Pure Monopolist has a Marginal Revenue urve which lies below its Average Revenue curve.
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**************************************************************************
Remember:
WE WILL ALWAYS RELY ON MC-MR ANALYSIS TO DETERMING THE QUANTITY FOR WHICH ANY TYPE COMPANY WILL MAXIMIZE PROFITS OR MINIMIZE LOSSES
***************************************************************************

THE MONOPOLIST WILL MAXIMIZE PROFITS OR MINIMIZE LOSSES BY PRODUCING THE QUANTITY AT WHICH MC = MR.
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PROFIT MAXIMIZING SENARIO
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LOSS MINIMIZING SENARIOS (TWO POSSIBILITIES – SHUT DOWN, CONTINUE TO OPERATE  ( COMPARE AR TO AVC.  IF AR>AVC – CONTINUE TO OPERATE.  

IF AR< AVC – SHUT DOWN
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NORMAL PROFIT SENARIO
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MISCONCEPTION ABOUT MONOPOLIST ( THAT THEY CHARGE THE HIGHEST PRICE POSSIBLE.  

TRUTH – THEY CHARGE THE POFIT MAXIMUM PRICE.

LONG RUN ANALYSIS

REMEMBER – THERE ARE COMPLETE BARRIERS TO ENTRY IN A MONOPOLISTIC INDUSTRY (JUST ONE FIRM)
SINCE THERE ARE COMPLETE BARRIERS TO ENTRY, A MONOPOLIST CAN EXPERIENCE TWO POSSIBLE OUTCOMES:

1. ECONOMIC PROFITS
2. NORMAL PROFITS

This is an important difference between Monopoly and Pure Competition
A couple of caveats to remember about the long run – 

· A natural monopoly exists in our economy as a result of government edict (the only complete barrier to entry).  The existence of economic profits will over time act to weaken any of the other barriers to entry.

· The government can modify the regulatory environment of a natural monopoly, which could negate the economic profit.

Monopoly & Efficiency
When comparing a Monopolist with a Purely Competitive firm, we can make the following point regarding efficiency (lowest long run production costs) and how well the Monopolist matches desires of society:

· Since a Monopolist may experience an economic profit in the long run. It will produce a smaller output and charge a higher price at long run equilibrium compared to a purely competitive firm.

· Even at normal profit long run equilibrium a Monopolist will will produce a smaller output and charge a higher price at long run equilibrium compared to a purely competitive firm. (We will investigate this point in more detail when we discuss Monopolistic Competition)
Price Discrimination

We have assumed that a Monopolist must sell of all of its product at the same price. (to increase sales, the firm must lower the price of all units it sells.).  In reality, this is not always the case.  Many times a Monopolist is able to use price discrimination (meaning a product is sold at more than one price to various consumer groups based upon something other than cost differences.)

For price discrimination to take place, the following two factors must be present:

· The seller must be able to segment the market into groups with differing demand curves.

· The purchasers must not be able to resell the good to consumer groups being charged higher prices

Using the word “discrimination” implies a negative result to consumers, but that is not always the case.

Price discrimination does enable the monopolist to earn a higher profit, but by being able to segment the consumers into groups based upon their willingness to pay, the firm is able to increase the total number of units sold.  This allows the firm to spread its fixed costs among a larger number of units and results in a lower cost structure for all consumers.

In the real economy, prices discrimination is practiced by may firms other than Monopolies.

· Airlines on ticket prices

· Electrical rates (residential, commercial, & industrial)

Regulating a Natural Monopoly

Since Government grants the right to selected firms to operate as Natural Monopolies, society looks to government to regulate the firm so that a fair price and adequate product/service quality are provided. (In a market environment, we would expect competition to enforce price and quality thru profits or losses)
The regulator must balance the short term benefits of lower price for the consumer with the long term survival of the firm.

There are three possible pricing/quantity outcomes possible.

· The Profit Maximizing Price (MC = MR).  This price implies no regulation at all.  There is an under allocation of resources since P > MC.  This is not politically viable for the regulators

· The Socially Optimum Price (P = MC).  This price ensures allocative efficiency.  Since the price is equal to marginal cost, there is no over or under allocation of resources.  However, the MC only accounts for the cost to produce the next unit.  Not the fixed costs involved in total production.  The point where P = MC is below the ATC curve for the firm.  If the Socially Optimum Price is chosen, the firm would not be able to stay in operation in the long run.

Since neither of these options are realistic, the regulator strives to reach a compromise
· The Fair Return Price (P = ATC) This price is a compromise between the other two options.  The firm is allowed a Normal Profit return.  The firm can cover its costs (including normal profit return to the owners)  For the consumers, the price is lower and quantity delivered is greater than they would be at a profit maximizing price.

Graph of Regulatory Pricing/Quantity Issues
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A key issue of political controversy using the Fair Return / Average Cost pricing format, is what expenditures made by the firm should be included as valid costs which should be used in calculating the regulated price.
Conclusion – Benefits of Monopoly to Society
In some instances, due to technical or physical limitations a competitive market would lead to a waste of society’s resources.  In these cases, society allows government to establish one firm as the sole provider of this product/service.  A Monopoly is viewed as the most efficient way to deliver the product.
MONOPOLISTIC COMPETITION

Characteristics

1. LARGE NUMBER OF FIRMS (LESS THAN PURE COMPETITION BUT ENOUGH SO THAT THERE IS NO MUTUAL INTERDEPENDENCE.

MUTUAL INTERDEPENDENCE- WHEN MAKING BUSINESS DECISIONS FIRMS MUST CONSIDER THE POTENTIAL REACTIONS OF COMPETITORS.

2. FIRMS SALE SIMILAR BUT NOT IDENTICAL PRODUCTS.  THIS IS REFERRED TO AS PRODUCT DIFFERENTIATION.  PRODUCT DIFFERENTIATION CAN BE EITHER REAL OR IMAGINED DIFFERENCES BETWEEN A FIRMS PRODUCTS AND COMPETITORS’.

3. THRU PRODUCT DIFFERENTIATION A FIRM IS ABLE TO BUILD CONSUMER DEMAND FOR ITS GOOD SO THAT WITHIN A “LIMITED” RANGE THE FIRM IS ABLE TO ACHIEVE SOME INFLUENCE OVER PRICE (LIMITED PRICE MAKER).

4. PRODUCT DIFFERENTIATION IS ACHIEVED AND MAINTAINED THRU THE USE OF NON PRICE COMPETITION.

PRODUCT DIFFERENTIATION IS ATTEMPTED THRU

· PRODUCT QUALITY (FEATURES, DESIGN, MATERIALS, & WORKMANSHIP)

· PACKAGING

· TRADEMARKS

· CONDITION OF SALE

· REPUTATION OF THE FIRM

5
BARRIERS TO ENTRY ARE FEW BUT NOT AS OPEN AS PURE COMPETITION.

The titled Monopolistic Competition is used since these firms combine characteristics of both:

Monopoly ( ability to influence price within a narrow range

Pure Competion ( weak barriers to entry, large number of firms
Firm’s Average Revenue/Demand Curve

· Since there are many firms, the average revenue  (AR) curve for a monopolistically competitive firm is highly elastic
· However since it has some influence over price it is not perfectly elastic

· The firms’ AR curve is downward sloping, but not steep.

· The more differentiated the firm can make its product, the less elastic its AR curve will be.

· Since the firm’s average revenue curve is downward sloping, its marginal revenue curve lies below the AR curve (Just like a pure monopoly)
See Graph from Lecture

Short–Run 
We rely on MC-MR analysis to confirm the firm has the same four short run scenarios which all other type firms face: 

· Economic Profit

· Normal Profit

· Economic Loss – Shut Down

· Economic Loss – Continue to produce

We can rely on the graphs of a Pure Monopolist for the graphs for a Monopolistically Competitive firm.  (see graphs for Monopoly earlier in the notes)
Long- Run Equilibrium
Because the barriers to entry for Monopolistic Competition are weak, in the long run the firm will have the same equilibrium as Pure Competition – ONY A NORMAL PROFIT.  (Weak barriers to entry mean if there are economic profits, firm will enter the industry, if there are economic losses firms will leave.)
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The Benefits of a Monopolistic Competitive Industry to Society
The benefit which a Monopolist Competitive Firm provides society compared to Pure Competition is (  Consumer Choice- Real product differences
This consumer choice however comes at additional costs to society compared to a Purely Competitive Industry.

Examining The Costs of Monopolistic Competition (the effects of non-price competition)
· Lack of Efficiency.  

No Allocative Efficiency.  Long run normal profit price is above marginal cost (P > MC).  This means that consumers are willing to pay more than the cost of production for the limited quantity produced.  There is an under allocation of resources.  
No Productive Efficiency.  The quantity produced at long run equilibrium is less than the low point of the short run cost (ATC) curve. 

· Excess Capacity    More firms in the industry than Pure Competition, and eachfirm is operating at less than its optimum capacity.  Much of society’s resources are used on idle plant and equipment.
Graph for Discussion of Efficiency and Excess Capacity
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Possible Other Issues with Product Differentiation 

Some critics argue that the following issued can result from excessive product differentiation in some markets, and can lead to additional costs to society.

· Planned Obsolescence - Cosmetic changes in product design which do not result in improved quality, durability or efficiency, but serve only to date current production from earlier models.
· Product Proliferation – An excessive number of similar products, such that it causes consumers difficulty in making rational selection decisions.
Advertising  Pro or Con?
Firms communicate product differentiation (whether real or imagined) to consumers thru advertising.
Pro Advertising Arguments
· To the extent that advertising communicates real product differences to the consumer, its costs are offset by a benefit to society.
· Advertising increases consumer awareness of the benefits of the product and can lead to an increase in demand/purchases of the product which move the firm’s production outward  on its long-run cost curve.  This results in a lower price per unit, even taking into account the higher cost structure due to advertising.
· Advertising can lower overall consumer prices because:

1. Advertising results in faster turnover of goods, lowering companies’ profit breakeven points. The increase in volume of goods sold lowers the fixed costs per unit.

2. Advertising increases consumers’ knowledge of competitive pricing in the market.  This limits firms’ ability to maintain its pricing above the going market level. 

Anti-Advertising Agruments
· To the extent that advertising simply tries to persuade consumers to switch from one product to another, it only adds another layer onto the firm’s production costs.  

1. All firms in the industry use this advertising to protect their market share.

2. Costs increase but an individual firm’s volume sold does not increase significantly.  

3. The firm does not shift out on its long run cost curve.  

4. Only result is added cost per unit for the consumer.
See Graph from Lecture
NOTE:   The above discussion of Advertising Pro vs Con is valid for all real world markets.  Not just Monopolistically Competitive.
OLIGOPOLY

1. RELATIVELY FEW FIRMS COMPARED TO MONOPOLISTIC COMPETITION

2. MUTUAL INTERDEPENDENCE AMONG ALL FIRMS ( A FIRM MUST CONSIDER THE REACTIONS OF ITS COMPETITORS WHEN IT MAKES A BUSINESS DECISION

3. PRODUCTS CAN BE HOMOGENEOUS (STANDARDIZED) OR DIFFERENTIATED

4. BARRIERS TO ENTRY ARE RATHER STRONG, BUT NOT COMPLETE

5. BECAUSE OF MUTUAL INTERDEPENDENCE COMPANIES FORM PRICING POLICIES TO DEAL WIT THE UNCERTAINTY OVER THE REACTION OF ITS RIVALS

NOTE:  Most “Real World” markets are Oligopolistic.

The significance of Uncertainty in Business Decisions
Owners/Managers fear uncertainty above all else.  To eliminate as much uncertainty as possible, firms will establish and follow pricing policies whenever possible 

AN OLIGOPOLIST’S PRICING POLICY CAN BE CATEGORIZED BASED ON THE AMOUNT OF INTERACTION BETWEEN FIRMS. THERE ARE THREE POSSIBLE PRICING POLICIES

COLLUSION


INDEPENDENT ACTION- NON COMPETITION


INDEPENDENT COMPETITION

COLLUSION:

COLLUSION: A WRITTEN OR IMPLIED UNDERSTANDING BETWEEN FIRMS DEALING WITH JOINT PRICING/PRODUCTION POLICIES.  COLLUSION ELIMINATES THE UNCERTAINTY IN PRICING. (COLLUSION IS ILLEGAL IN THE U.S.)
THE MORE SUCCESSFUL THE COLLUSION, THE MORE THE MARKET WILL RESEMBLE A PURE MONOPOLY ENVIRONMENT FOR THE FIRMS. (The firms will act in the market place like one single entity)
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THE MOST COMPREHENSIVE TYPE OF COLLUSION (USUALLY A FORMAL AGREEMENT) IS REFERRED TO AS A CARTEL.  OPEC IS AN EXAMPLE.

THERE ARE SEVERAL FACTORS WHICH TEND TO WEAKEN COLLUSION:

1. COST DIFFERENCES AMONG THE ENTITIES

2. NUMBER OF ENTITIES (LARGER NUMBER INVOLVED WEAKENS THE GROUP’S COHESION

3. PRICE CUTTING BY SOME ENTITIES

4. ECONOMIC DOWNTURNS (PRESSURE ON PROFITS STARTS SOME ENTITIES TO LOOK OUT FOR THEMSELVES AT THE EXPENSE FO THE GROUP)

INDEPENDENT- NON COMPETITION:

ALSO REFERRED TO AS PRICE LEADERSHIP.

PRICE LEADERSHIP - SITUATIONS WHERE FIRMS ACTING ON THEIR OWN DECIDE TO FOLLOW THE PRICING POLICIES SET BY THE DOMINANT FIRM (USUALLY EITHER THE LARGEST OR MOST EFFICIENT) IN AN INDUSTRY. THIS DECISION REDUCES THE UNCERTAINTY FACED BY THE INDIVIDUAL FIRMS.

SINCE EACH FIRM IS ACTING ON ITS OWN, PRICE LEADERSHIP IS NOT ILLEGAL.  THIS SITUATION IS NOT COLLUSION, BECAUSE THERE IS NO FORMAL CONTACT BETWEEN THE FIRMS.  

INDEPENDENT COMPETITION:

EVEN WHEN FIRMS ARE ACTING INDEPENDENTLY, THE FACT THAT THEY ARE MUTUALLY INTERDEPENDENT WILL AFFECT THE DECISIONS THEY MAKE.

A FIRM UNDERSTANDS THAT IF IT LOWERS ITS PRICE, ITS COMPETITORS WILL LIKELY DO SO ALSO.  IN THIS CASE THERE WOULD BE A DECLINE IN PROFITS (NO INCREASE IN QUANTITY TO OFFSET DECLINE IN PRICE)

IF A FIRM RAISES ITS PRICE, ITS COMPETITORS WILL LIKELY NOT DO SO.  IN THIS CASE THERE WOULD BE A DECLINE IN PROFITS (GREATER DECLINE IN QUANTITY NEGATES INCREASE IN PRICE)

The Kinked Demand Curve for an Independent Oligopolist
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FROM THE STANDPOINT OF COSTS, SINCE THERE ARE ONLY A FEW FIRMS, THEY DEAL WITH BASICALLY THE SAME SUPPLIERS.  THEREFORE EACH FIRM’S COST STRUCTURE IS VERY SIMILAR TO THAT OF ITS COMPETITORS’.  IT IS REASONABLE TO EXPECT THAT VARIOUS FIRMS COSTS ARE GOING TO CHANGE IN SIMILAR TIMING AND DIRECTION.
WHAT DO THE THREE PRICING POLICIES MEAN WHEN VIEWED BY THE CONSUMER?
TO AN OUTSIDE OBSERVER, THE PRICE MOVEMENTS RESULTING FROM THE THREE PRICING POLICIES ARE VERY SIMILAR.  ITS IS NOT ALWAYS POSSIBLE TO KNOW WHICH PRICING POLICY IS IN PLACE IN AN INDIVIDUAL MARKET.
Long Run Equilibrium 

BECAUSE OF SIGNIFICANT BARRIERS TO ENTRY, OLIGOPOLIES MAY EXPERIENCE ECONOMIC PROFITS IN THE LONG RUN.  HOWEVER, PROFITS WILL WEAKEN BARRIERS TO ENTRY OVER TIME

BECAUSE OF A LACK OF PRICE COMPETITION, OLIGOPOLISTIC INDUSTRIES ARE HEAVY USERS OF NON PRICE COMPETITION (ADVERTISING, AND PRODUCT DIFFERENTIATION).

Benefits and Costs of Oligopolies to Society 
Like Monopoly and Monopolistic Competition, Oligopolies do not achieve Allocative or Productive Efficiency.

However, an argument for Oligopolistic industries compared to Purely Competitive industries  is that Oligopolies allow for rapid technological development.  This is due to the following:
1. Only Oligopolistic industries allow the few firms in the industry to grow large enough financially to accumulate the resources to engage in research and development.

2. Firms in Oligopolistic industries have an incentive to conduct research and development since the significant barriers to entry provide a protection for any new technology developed.
